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1. Aline that intersects two lines at two different points is called

(i) concurrentlines (ii) parallel lines (iii) transversal (iv) perpendicularlines (v) coplanar lines

2. Find the adjacent angles in the given figure
n

’
() L1,45;242,46; 23,47 ;L4,,8 (i) £3,45; L4, L6 (i) L1, L4;22,L3;L5,.8;L6,L7
(V) £1,248;22,247 (V) L1,42;242,L4;L4,243;23,21;25,46;L6,.8;.8,L7;L7,L5

3. Find the vertically opposite angles in the given figure
n

(i) £3,45; L4, L6 (i) £1,48; L2, L7 (iii) £3,44,.L5, L6

(iv) £1,L4;L2,L3;L5,L8;L6,L7 (v) L3,L6; L4, L5



4. Find the interior angles in the given figure
n

(i) £1,48; 42,47 (ii) £3,46;L4,LL5
(i) £1,42;42,L4;L4,L3;/L3,L);L5,L6;L6,.L8;L8,L7;L7,.L5 (iv) £L3,45;,4,.L6
(v) 43,144,145, L6

5. Find the exterior angles in the given figure
n

(i) £3,46; 44,45 (i) £1,48;£2,L7 (i) £1,45;£2,.46; L3 ,.L7;.L4,.L8

(iv) £1,42;L2,44;L4,L3;L3,LY;/L5,L6;L6,48;L8,L7;.L7,.45 (v) £1,42,L.7, L8



6. Find the interior alternate angles in the given figure
n

(i) £1,42;142,L4;L4,L3;L3,L1;/L5,L6;L6,.L8;.L8,.L7;.L7,.L5 (i) £3,46;L4,.L5

(i) 41,48 ;£2,L7 (iv) £3,44,/45,46 (v) L1 ,45;/L2,L6;L3,L7;.,4,/.8

7. Find the exterior alternate angles in the given figure
n

(i) £1,42,47,48 (i) £1,44;L2,.L3;L5,£8; 6,47 (i) L1 ,45;£42,46;L3,L7;L4, L8

(iv) £1,48;£2,L7 (v) LY ,42;L2,L4;/L4,/L3;/L3,L);L5,L6;L6,.L8;.L8,L7;L7,L.L5



8. Find the corresponding angles in the given figure
n

(i) £1,44;L2,L3;L5,48;£6,L7 (i) £3,46; 4,5 (iii) £1,48;42,.L7

(iv) £1,42,L7,48 (v) L1 ,45;4L2,.L6;L3,L7;.L4,.8

9. Find the co-interior angles in the given figure
n

(i) £3,45; 44,6 (i) £3,46;L4,L5 (iii) £3,44,.45, L6
(iv) £1,44; L2,L3;L5,48;L6,L7

(V) £1,42;L2,L4;L4,L3;L3,L1;L5,L6;L6,.L8;.L8,.L7;L.L7,L.L5

10. Find the value of 'y'
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(i) 166° (i) 141° (iii) 151° (iv) 136° (v) 146°



11. In the given figure | | m. Find the value of 'p'

(i) 31 (ii) 27 (iii) 29 (iv) 33 (v) 30

12. In the given figure | | m. Find the value of 'w'

n

log*
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(i) 35 (ii) 36 (iii) 34 (iv) 38 (v) 37

13. In the given figure | | m. Find the value of 'r'
n

10r+2

C 4r+10 D

(i) 11 (ii) 13 (i) 15 (iv) 12 (v) 9



14. In the given figure | | m. Find the value of 'r'
n

12r-10 &r-8

(i) 8 (ii) 13 (iii) 12 (iv) 11 (v) 10

15. In the given figure | | m. Find the value of 'p'
n

& 4p-9 8p+9 D

(i) 15 (ii) 16 (iii)) 14 (iv) 17 (v) 12

16. In the given figure | | m. Find the value of 'z’
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(i) 47° (ii) 52° (iii) 72° (iv) 42° (v) 57°



17. In the given figurel | m. Find the value of 'u’
)
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(i) 54° (ii) 59° (iii) 44° (iv) 74° (v) 49°

18. In the given figure,l | mandn || oandp || g.Find the values of {d,e,f,g,h,i}
0
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(i) 55°,55°,74°,74°,51°,51° (ii) 55°,51°,74°,74°,55°,51° (iii)) 74°,74°,51°,51°,55°,55°

(iv) 74°,74°,55°,51°,51°,55° (v) 74°,51°,55°,74°,51°,55°

19. Which of the following are true for alternate angles?

a) They are on either side of the transversal

b) They are not adjacent angles

c) Both are interior angles

d) They are in the same side of the transversal
e) One is interior angle and the other is exterior
f) They are adjacent angles

(i) {f.d,c} (i) {d,a} (iii) {e,a,b} (iv) {a,b,c} (v) {eb}

20. Which of the following are true for corresponding angles?

a) They are not adjacent angles

b) One is interior angle and the other is exterior angle
c) They are adjacent angles

d) They are on the same side of the transversal

e) They are on either side of the transversal

f) Both are interior angles

(i) {eb} (i) {c,a} (i) {a,b,d} (iv) {fc,d} (v) {e,ab}



21. Which of the following are true?

a)If mln and mlo ,then nlo

b) If m|n and njo ,then mj|o

d
e) If two lines are parallel to the same line, then they are parallel to each other

)
)
c) If two lines are parallel to the same line, then they are perpendicular to each other
)If mLn and nlo ,then mLlo

)

(i) {d,a,b} (ii) {a,b} (iii) {c,e} (iv) {b,e} (v) {ceb}

22. In the given figure,b,c,d, e, f, g arelinesin a plane. By looking at the figure, which of the following are true?

a) gis the transversal ofd &b
b) bis the transversal ofd &f
c) fis the transversal ofd&e
d) eis the transversal ofb&c
e) bjc

f) bje
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(i) {b,f,d} (ii) {b,e,a} (iii) {fc} (iv) {a,c.d,e} (v) {b,a}

23. Which of the following are true with respect to lines r,s,t,u where r|s,sLlt,tLu?

a)rfu
b) r|t
c) tfu
d)

e)s|u

riLu

(i) {c,e} (i) {b,a} (ii) {cea} (iv) {a,e} (v) {d,b,a}



24. Which of the given figures is wrong?

r_J

1 v
(i) © (i) v (i) mo(iv) n
25. In which of the figures given bellow, | || m?
n n
/KLZLJ”
"_J = "l
110°
o
800 73
el = m -~
Il
n n
70°
"_J = "
78°
112° 700
=~ = m -~

I W

(i) 1 oGi)y ©oGii)y o meoGv) v



26. In which of the figures given bellow, | } m(not parallel)?
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(i) vV i) 1) 1 oGv)

27. If 1| m, which of the given figures is correct?
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(i) 1oGi)y v (i) 1 oGv)



Assignment Key

1) (iii) 2) (v) 3) (iv) 4) (v) 5) (v) 6) (ii)
7) (iv) 8) (v) 9) (i) 10) (iv) 11) (v) 12) (ii)
13) (iv) 14) (iv) 15) (i) 16) (iv) 17) (iii) 18) (v)
19) (iv) 20) (iii) 21) (iv) 22) (iv) 23) (iv) 24) (iv)
25) (iv) 26) (iii) 27) (iv)
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